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= HE (24%) oy MRS | oo | TR 2
BRBRREH TS — [ FRIOR~ET 600 500 A 100
BRBRREI T — [ A 1R~ 585 300 600 A 200
BRBRREI S — [ 6~ F 51055 300 600 A 200
BRERRED T S~ [FE= TR~ ET 600 500 A 100
BRERRED T S~ [FE= A 1R~ 585 300 600 A 200
BRERRED T S~ [FE= 65~ F 41055 300 600 A 200
BRBRREI T — [FE= TR~ ET a0 300 A 100
BRBRREI TS — [FE= 1R~ 585 500 400 A 100
BRBRRE S — [FE= 6~ T 51055 500 400 A 100
BRBRREN TS — [FEm TR~ ET 200 200 0
BRBRREN TS — [FEm A 1R~ 585 300 200 A 100
BRBRREN TS — [FEm 65~ T 41055 300 200 A 100
APERRANT S~ (15— FRIIF~ET 300 200 A 100
APERRANT S — (15— A 1R~ 585 a0 3000 A 100
APERRANT S — (15— 6~ T 51055 a0 3000 A 100
BRERRED T S~ [f1Z= FRIIR~ET 200 200 0
BB REI Y — (M= 1R~ 585 300 200 A 100
AERREI Y — (M= F 6~ T 51055 300 200 A 100
ABRREI Y — [ FRIIRS~ T 200 200 0
ABRREI Y — (MR 1R~ 585 300 200 A 100
ABRREI Y — (MR F 6~ T 51055 300 200 A 100
mPERREET VY — | BHEE— FRI9EF~1IEF 500 4001 A 100
BB — | 1R~ 585 600 500 A 100
BB S — | F 6~ T 51055 60| 500 A 100
BB S — |BREs FRIIRS~ T 400 300 A 100
mPERREET VY — | BEEZ TR 1B ~F1R00F 600 500 A 100
mPERREET VY — | BEEZ FHROBF~F1R108F 600 500 A 100
mPEREREEtE VY — |ZENE FRI9EF~ IEF 2,200 1,700 A 500
mPEREREEtT VY — |ZENE TR 1B ~F1R50F 3,000 2,300 A 700
mPEREREEtT VY — |ZENE FHROBF~F1R108F 3,000 2,300 A 700
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2 HE (2£%) o (mE) | Rao | XER | ZE
FERREMESS—  |FE— PRI~ EF 200 200 0
FERREMEYS—  |FE— iR 1B~ P50 200 200 0
FERREMEYS—  |FE— o 200 200 0
FERREMEYS—  |[FE= PRI~ EF 400 300 A 100
FERREMEYS—  |FE= iR 1B~ P50 600 500 A 100
FERREMEYS—  |FE= o 600 500 A 100
FERREMEYS—  |FE= PRI~ EF 600 500 A 100
FERREMESS—  |FE= {8 1B~ P50 700 500 A 200
FERREMEYS—  |FE= o 700 500 A 200
IERRENEY S~ [FEm PRI~ EF 600 500 A 100
FERRENEY S~  [FEm {8 1B~ P50 700 500 A 200
FERRENEY S~ [FEm o 700 500 A 200
FERRENEYS—  |F2E PRI~ EF 300 200 A 100
FERRENEYS—  |F2E {8 1B~ P50 400 300 A 100
FERRENEYS—  |F2E 60 ~ %1095 400 300 A 100
IERREMEY S~ [FIE— PRI~ EF 200 200 0
IERRENEY S~ [FiE— iR B~ P50 300 200 A 100
IERREMEY S~ [FIE— 60 ~ %1095 300 200 A 100
FERREMES—  |ME= PRI~ EF 300 200 A 100
FERREMES—  |ME= il B~ P50 400 300 A 100
FERREMES—  |ME= 60 ~ %1095 400 300 A 100
FERREBES—  |ME= PRI~ EF 300 200 A 100
FERREBES—  |ME= il B~ P50 400 300 A 100
FERREBES—  |ME= 60 ~ %1095 400 300 A 100
SERRENEYS—  |MEm PRI~ EF 200 200 0
FERRENEYS—  |MEm iR B~ P50 300 200 A 100
SERRENEYS—  |MEm 60 ~ %1095 300 200 A 100
SERRERC S — | PRI~ EF 200 200 0
FERRER TS — | iR 1B~ P50 300 200 A 100
SERRERC S — | 60 ~ %1095 300 200 A 100
SERREMEY S~  |ERE PRI~ EF 400 300 A 100
SERREMEY S —  |ERE iR B~ P50 600 500 A 100
SERREMEY S~  |ERE {60 ~ 1095 600 500 A 100

% HE (££2%) X (smE) | ROE | XER | EH
RERRENEYS—  [FE— PRI~ EF 200 200 0
RERRENCY S~ [FE— 18 1B~ P50 300 200 A 100
RERRENCY S~ [FE— 0B~ 1108 300 200 A 100
RURREHCY S~ [FE PRI~ EF 300 200 A 100
RURREHCY S~ [FE 18 1B~ P50 600 500 A 100




RREEB Y —  |FEZ FROBF ~ 121085 600 500 A 100
RREEB Y —  |FE= FRIVEF~IEF 600 500f A 100
RREEB Y —  |FE= FAR B ~F1L5HF 700 500 A 200
RREEB Y — |[FE= FROBF ~ 121085 700 500 A 200
RREEE Y — FEM FRIVEF~IEF 600 500f A 100
RREEEB Y — |FEM FAR B ~F1L5HF 700 500 A 200
RREEEB Y — FEM FROBF ~ 121085 700 500 A 200
ReEEES Y — |FIZE— FRI9EF~1EF 300 200 A 100
ReEEES Y — |FIZE— TR 1B~ FRObF 300 200 A 100
ReEEES Y — |FIZE— FHROBF~FR108F 300 200 A 100
ReEEES Y — |FIZEZ FRIIEF~1EF 300 200 A 100
ReXEES VY — |HIZEZ TR 1B~ FROBF 300 200 A 100
ReXEES VY — |FIZEZ FHROBF~FR108F 300 200 A 100
e BE (22%) X5 FRw®) | Gae | XER | =
wEEEES T Y- |FE— FRIIEF~1EF 1,400 1,700 A 300
wEXEES T Y- |FE— TR 1B~ FROBF 1,700 1,300 A 400
wEXEES T Y- |FE— FHROBF~FR108F 1,700 1,300 A 400
wEXEES T Y- |FEC FHIIRF~IEF 600 500{ A 100
wEXEES T Y- |FEC TR 1B~ FRObF 700 500{ A 200
PEXEES T Y- |FEC FHROBF~FR108F 700 500{ A 200
wEKEES T Y- |FE= FHIIRF~IEF 300 200 A 100
wEXEES T Y- |FE= TR 1B~ FROBF 600 500{ A 100
wEXEES T Y- |FE= FHROBF~FR108F 600 500{ A 100
wEXEES TS — |IZE— FHIIRF~IEF 400 300f A 100
wEXEES TS — |IZE— TR 1B~ FROBF 600 500{ A 100
wEXEES TS — |FIZE— FHROBF~FR108F 600 500{ A 100
wEXEES TS — |FIZEZ FRIIRF~IEF 300 200 A 100
wEKEES TS — |FIZEZ TR 1B~ FRO0F 400 300f A 100
wEXEES T Y-  |HIZEZ FHROBF~F1R108F 400 300f A 100
wEXEES TS — |FER FRIIRF~IEF 400 300f A 100
PEXEES TS — |FER TR 1B~ F1RO0F 600 500{ A 100
wEXEES TS — |FER FHROBF~FR108F 600 500{ A 100
PEEXREES T Y —9= |FIZE— FRIIRF~IEF 300 200 A 100
PEEXREES T Y —9= |FIZE— TR 1B~ F1RO0F 400 300f A 100
REEXREEST Y —D= (NE— FHROBF~F1R108F 400 300 A 100
PEXREES T Y —9= |IE— FRIIRF~IEF 400 300 A 100
PEEXREES T Y —9= |IE— TR 1B~ F1RO0F 600 500{ A 100
REEEKRERES T —DE (NEZ FHROBF~F1R108F 600 500{ A 100
% HE (££2%) o (RREE) | a0 | TR EH
MEXREEZETEZY—  [|FEZ FRIIRF~IEF 400 300 A 100




MEXEEESE 5 — FEZ 12 1B~ 1200 600 500{ A 100
MEXEEESE 5 — FEZ F12O6BF~T12108F 600 500{ A 100
MEXEEESE 5 — FE= FFRI9BF~IEF 600 500{ A 100
MEXEEESE 5 — FE= 1215~ 1200 600 500{ A 100
MEXEEESE 5 — FE= F12O6BF~T12108F 600 500{ A 100
MEXEEESE 5 — = FFRI9BF~ IEF 900 700 A 200
MEXEEESE 5 — = 12 1B~ 1200 1,500 1,700 A 400
MEXEZETE Y — = TR OBF ~ 12 108F 1,500 1,700 A 400
MEXEZETE Y — BEpEE FRI9EF~1IEF 400 3000 A 100
MEXEZET VY — EIEE TR~ T1ROHF 600 500 A 100
MEXEZETE Y — BEpEE 1R OBF ~ 12 108F 600 500 A 100
e BE (22%) X5 FRwe) | Gae | XER | =
BIXEZETEY— FE— FRI9EF~1IEF 300 2001 A 100
BIXEZEtEY— FE— TR~ T1ROHF 300 2001 A 100
BIXEZETEY— FE— 1R OBF ~ 12 108F 300 2001 A 100
BIXEZEtEY— FE= FRIBF~1EF 700 500 A 200
BIXEZEtEY— FE= TR~ T1R08F 900 700 A 200
BIXEZEtEY— FE= FROBF~T12108F 900 700 A 200
BIXEZETEY— f=— FRIBF~1EF 300 2001 A 100
BIXEZEtEY— f=— TR~ T1R08F 400 3000 A 100
BIXEZEtEY— f=— FROBF~T12108F 400 3000 A 100
BIXEZEtEY— == FRIBF~1EF 200 200 0
BIXEZEtEY— == TR~ T1R08F 300 2001 A 100
BHIXRREE Y — M== FROBF~T12108F 300 2001 A 100
ROKEENE 9—  |[f== (@R FRI9B ~ EF 3000 200[ A 100
BHXREEIE Y — FEZ GEE=E) TR~ T1R08F 400 3000 A 100
BHXREEIE Y — FEZ GE=E) FROBF~T12108F 400 3000 A 100
= HE (24%) o (RREE) | a0 | HER | EH
e P FRI9B ~ EF 500 400 A 100
RABFXERETE VY — [FE— TR~ T1R08F 700 500 A 200
RABFXERETEVY— [FE— FROBF~T12108F 700 500 A 200
RAFXEEHTEY— [FEZ R~ 1EF 500 4001 A 100
RAFXEEHTEY— [FEZ TR~ T1R08F 700 500 A 200
RAFXEEHTEY— [FEZ 1% 0BF ~ 12108 700 500 A 200
RAFXEEHTEY— [FE= R~ 1EF 400 3000 A 100
RAFXEEHTEY— [FE= TR~ T1R08F 600 500 A 100
RAFXEEHTEY— [FE= 1% 0BF ~ 12108 600 500 A 100
RAFXERETEVY— [FEM R~ 1EF 400 3000 A 100
RAFXERETEVY— [FEM TR~ T1R08F 600 500 A 100
RAFXERETEVY— [FEM 1% 0BF ~ 12108 600 500 A 100




RAFXERET Y — [AEE FFRI9BF~ IEF 900 7001 A 200
RAFXERET Y — [AEE T2 1B~ 1200F 1,200 900 A 300
RAFXERET Y — [AEE F126BF~T12108F 1,200 900 A 300
RAFXEEHT Y — |ZENE FFRI9BF~ IEF 1,400 1,100 A 300
RAFXEEHT Y — |ZENE T2 1B~ 1200F 1,900 1,400 A 500
RAFXEEHT Y — |ZENE F126BF~T12108F 1,900 1,400 A 500
2 B (2£2%) o wE) | Rao | XER | ZE
IreHXEE#StEY— [[FE— FRI9EF~1IEF 400 3000 A 100
IreHXEEE#StEY— [[FE— TR~ T1ROHF 600 5001 A 100
IreHXEE#StEY— [[FE— 1R OBF ~ 12 108F 600 500 A 100
IreHXEEE#SHtEY— [[FEZ FRI9EF~1IEF 400 3000 A 100
IreHXEEE#SHtEY— [[FEZ TR~ T1ROHF 600 5001 A 100
IreHXEE#SHtEY— [[FEZ 1R OBF ~ 12 108F 600 500 A 100
IreHXEE#SHtEY— [[FE= FRI9EF~1IEF 400 3000 A 100
IreHXEE#SHtEY— [[FE= TR~ T1ROHF 600 5001 A 100
IreHXEE#SHtEY— [[FE= 1R 0BF ~ 12 108F 600 500 A 100
IreHXEE#SHtEY— (IZE— TR~ 1EF 200 200 0
IreHXEE#SHtEY— (IZE— TR~ T1R08F 300 2001 A 100
IreHXEE#SHtEY— (IZE— 1R 0BF ~ 12 108F 300 2001 A 100
IreHXEE#SHtEY— (1EZ TR~ 1EF 400 3000 A 100
IreHXEESHtEY— (1EZ TR~ T1R08F 600 5001 A 100
IreHXEE#SHtEY— (1EZ 1R 0BF ~ 12 108F 600 500 A 100
IreHXEEESHtE Y — |[fRE=E FRIBF~1EF 300 2001 A 100
IreHXEEESHtE Y — [fRE=E TR~ T1R08F 600 5001 A 100
IreHXEESHtE Y — [fRE=E 1R 0BF ~ 12 108F 600 500 A 100
IreHXEE#SHtE Y — |[BE=E R~ 1EF 400 3000 A 100
IreHXEESHtEY— [BE=E TR~ T1R08F 600 5001 A 100
IreHXEE#SHtE Y — |[BE=E 1% 0BF ~ 12108 600 500 A 100
% HE (24%) o (RREE) | S | HER | EH
THEEEZESTE Y — FE— R~ 1EF 200 200 0
SHRRER Y 9— R ALt 00 2000 A 100
THEEEZESTE Y — FE— 1% 0BF ~ 12108 300 2001 A 100
THEEEZESTE Y — FEZ R~ 1EF 400 3000 A 100
THEEEESTE Y — FEZ TR~ T1R08F 600 500 A 100
THEEEESTE Y — FEZ 1% 0BF ~ 12108 600 500 A 100
THEEEESTE Y — FE= R~ 1EF 400 3000 A 100
THEEEESTE Y — FE= TR~ T1R08F 600 500 A 100
THEEEESTE Y — FE= 1% 0BF ~ 12108 600 500 A 100
THEEEESTE Y — =M R~ 1EF 400 3000 A 100
THEEEESTE Y — =M TR~ T1R08F 600 500 A 100




HHEEEESTEY— |FEN FAROBF~ %1085 600 500f A 100
WHEREEBTEY— |f1ZE— FHIIEF ~ IEF 100 100 0
WHEREEBTEY— |f1ZE— FR1BF~ F1RO0F 200 200 0
WHEREEBTEY— |f1ZE— FAROBF~ %1085 200 200 0
WHEREEESTEY— |[fIZEZ FHIIEF ~ IEF 100 100 0
WHEREEBTEY— |[fIZEZ FR1BF~ F1R500F 200 200 0
WHEREEBTEY— |fIZEZ FAROBF~ %1085 200 200 0
FHREERESEY— |HZE= FRIIRF~IEF 100 100 0
FHREERESEY— |[HZE= R 1B ~F&R58F 200 200 0
FHREERESEY— |HZE= TR OB ~ 11085 200 200 0
FHREERETEY— |HZEM FRIIRF~IEF 100 100 0
FHREERESTEY— |HZEM R ~F&R58F 200 200 0
FHREERESTEY— |HZEM RO ~ T 1085 200 200 0
HHREEREEY— |SHE=E FRIIRF~IEF 200 200 0
FHEREHEYY—  |EEE 451~ F 14585 3000 200 A 100
FHEREHEYY—  |EEE S 6F~F 12108 3000 200 A 100
% BE (£2%) Ko (ews) | ROV | XER | EH
AhHERREEE Y — [FE— FHI9EF ~ IEF 400 300 A 100
AEHEEREEE Y — [FE— TR ~F&R5F 600 500{ A 100
AhHEEREEE Y — [FE— RO ~ 11085 600 500{ A 100
AEHEEREEE Y — FEZ FHI9EF ~ IEF 400 300 A 100
AEHERREEE Y — FEZ TR ~F&R5F 600 500{ A 100
AEHEEREEE Y — [FEZ RO ~ 11085 600 500{ A 100
AEHEEREEE Y- [FE= FHI9EF ~ IEF 300 200 A 100
AhHERREEC Y — [FE= TR ~F&R5F 400 300 A 100
AEHERREET Y — FE= RO ~ 121085 400 300 A 100
AhHEEREEE Y — |[FIZE— FHI9EF ~ IEF 200 200 0
THEERRED LY~ [ME— 181 B~ 55 300 200] A 100
AhHEERREEE Y — |[FIZE— RO ~ 11085 300 200{ A 100
AhHEEREEE Y — |IEZ FHI9EF ~ IEF 300 200{ A 100
AIhHEEREEE Y — |[IEZ TR ~FR5F 400 300 A 100
AhHEEREEE Y — |IEZ RO ~ 11085 400 300 A 100
AhHERREEE Y — |[IE= FHI9EF ~ IEF 200 200 0
AIhHERREEE Y — |IE= TR ~FR50F 300 200{ A 100
IHHERREEE Y — |[IE= RO ~ 121085 300 200 A 100
IhHEEEEEE Y — |[FZEE FHI9EF ~ IEF 600 500{ A 100
IhHEEEEEE Y — |[FZEE TR ~FR50F 700 500{ A 200
IhHEEEEEE Y — |[FZEE RO ~ 11085 700 500{ A 200
IHHERREET Y — |FHEE FHI9EF ~ IEF 400 300 A 100
IHHERREET Y — |FHEE TR ~FR50F 600 500{ A 100
IHHERREET Y — |FHEE RO ~ 11085 600 500{ A 100




THHERESZEtE Y — [BE=E FHIRF~1EF 400 3000 A 100
THHEREGZEtE Y — [BE=E FREIBRF~F1E00F 600 5001 A 100
THERRER T 59— |E5= 5605 ~ EF 1 0B 600 500 A 100
2 HE (2£%) o (ms) | Roo | XER | ZE
ARXEERETE Y — EE— FHIRF~1EF 300 2001 A 100
ARXEERETE Y — EE— FREIBRF~F1E00F 400 3000 A 100
BRXEEEIT Y — FE— F126BF~F12108F 400 3000 A 100
BRXEE#StT S — FEET FaI9EF~1EF 600 5001 A 100
BRXEEHtT 5 — FEET TR~ 150 800 600 A 200
BRXEE#StT S — EET F12OBF~F12 1085 800 600 A 200
BRXEEHtT S — EE= FaI9EF~1EF 700 5001 A 200
BRXEESHtT 5 — FEE= TR~ 150 900 7001 A 200
BRXEEStT 5 — FEE= F12OBF~F12108F 900 7001 A 200
BRXEEHtT 5 — M=— FaI9EF~1EF 300 2001 A 100
BRXEESHtT 5 — M=— TR~ 150 400 3000 A 100
BRXEE#StT S — M=— F1260BF~F12 1085 400 3000 A 100
BRXEE#HtT 5 — M=E— FaI9EF~1EF 600 5001 A 100
BRXEE#HtT S — M=E— TR~ 150 800 600 A 200
BRXEE#StT S — M=E— F126BF~F12 1085 800 600 A 200
BRXEE#StT S — BREE FaI9EF~1EF 1,300 1,000 A 300
BRXEE#HtT S — BREE TR~ 150 1, 600 1,200 A 400
BRXEE#HtT 5 — BREE F1260BF~F12 1085 1, 600 1,200 A 400
BRXEE#StT S — ZBEM=E FRI9EF~1EF 800 600 A 200
BRXEE#StT S — ZEM=E TR~ 150 1,300 1,000 A 300
BRXEE#StT S — ZEM=E F1260BF~F 121085 1,300 1,000 A 300
= BE (F2%) o (RREE) | S | HER | EH
FAXREE#H TS — EE— FaI9BF~1EF 600 5001 A 100
FAXREES TS — EE— TR~ 150 600 5001 A 100
FAXRES TS — EE— F126BF~F121085F 600 5001 A 100
FAXREES TS — EET FaRI9BF~1EF 400 3000 A 100
FAXREE#ST S — EET TR~ 150 600 5001 A 100
FAXREE#StT S — EET F126BF~F121085F 600 5001 A 100
FAXREE#ST S — EE= FaRI9BF~1EF 400 3000 A 100
FAXREES TS — EE= TR~ 150 600 5001 A 100
FAXREES TS — EE= F126BF~F121085 600 5001 A 100
FAXREES TS — M=E— FRIEF~1EF 300 2001 A 100
FAXREES TS — M=E— TR~ 150 400 3000 A 100
FAXREES TS — M=E— F126BF~F121085 400 3000 A 100
FAXREES TS — M=E= FRIEF~1EF 200 200 0
FAXREES TS — M=E= TR~ 150 300 2001 A 100




BARRENEYS—  [ME= R0~ 107 300 200] A 100
HAXEEESTEY—  |[HE= FHIIEF ~ IEF 200 200 0
HAXEEESTEY— |[HE= FR1BF~ F1RO0F 300 200 A 100
BARRENE S~  |[ME= R0~ 107 300 200 A 100
FAXEEESTEY—  |RE=E FHIIEF ~ IEF 400 300 A 100
FAXEEESTEY—  |RE=E FR1BF~ F1R500F 600 500f A 100
HAXEEESTEY—  |RE=E FAROBF~ %1085 600 500f A 100
FARREETEY—  |BR=E— FRIIRF~IEF 400 300 A 100
FARREETEY—  |BR=E— R 1B ~F&R58F 600 500{ A 100
FARREETEY—  |BER=E— TR OB ~ 11085 600 500{ A 100
HFAKEERS VY- |BREZ FRIIRF~IEF 100 100 0
HFAKEERS Y- |BREZ R ~F&R58F 200 200 0
HFAXKRERS VY- |BREZ RO ~ T 1085 200 200 0
HFAXKEES Y-  |ZENEC FRIIRF~IEF 900 700 A 200
HFAXKEES VY-  |ZENEC R 1B ~FR58F 1,500(  1,100] A 400
HFAXKEES TS —  |ZENEC RO ~ 11085 1,500( 1,100] A 400
HFAXKEES VY-  |ZENE= FRIIRF~IEF 700 500{ A 200
HFAKEES VY-  |ZENE= TR ~F&R5F 900 700 A 200
HFAKEES VY-  |ZENE= RO ~ 11085 900 700 A 200
BHAREEES T Y= |HZE FHI9EF ~ IEF 200 200 0
BHAREEES T VY —0E |HZE TR ~F&R5F 300 200 A 100
BHARREESTZ Y —0E |HZE RO ~ 121085 300 200 A 100
BHARREERTZ VY —DE | FE FHI9EF ~ IEF 200 200 0
BHARREERTZ VY —DE | FE TR ~F&R5F 300 200 A 100
BHAREEERT VY —DE | FE RO ~ 121085 300 200 A 100
% BE (£2%) Ko (ems) | ROW | XER| EH
AMEERSEY— [FE— FHI9EF ~ IEF 600 500{ A 100
AMEERSCEY— [FE— TR ~FR5F 600 500{ A 100
AMEERSCEY— [FE— RO ~ 11085 600 500{ A 100
AMEERSHEY—  [FEZ FHI9EF ~ IEF 400 300 A 100
AMEERSHCEY—  [FEZ TR ~FR5F 600 500{ A 100
AMEERSHEY—  [FEZ RO ~ 11085 600 500{ A 100
AMEERSHCEVY— [FE= FHI9EF ~ IEF 600 500{ A 100
AMEERSCEY— [FE= TR ~FR50F 600 500{ A 100
AMEEERSHCEY— [FE= RO ~ 121085 600 500{ A 100
AMEERSHEY— |[N=E— FHI9EF ~ IEF 100 100 0
AMEERSHEY— |[=E— TR ~FR50F 200 200 0
AMEERSHEY— |[N=E— RO ~ 11085 200 200 0
AMEERSHCEVY— |[EZ FHI9EF ~ IEF 100 100 0
AMEERSHCEVY— |[EZ TR ~FR50F 200 200 0
AMEERSHCEVY— |[EZ RO ~ 11085 200 200 0




ANMXERREIE Y — M=E= FFRI9BF~ IEF 200 200 0
ANMXRREIE Y — M=E= T2 1B~ 1200F 200 200 0
ANMXRREIE Y — M=E= F126BF~T12108F 200 200 0
ANMXRREIE Y — =/ FFRI9BF~ IEF 200 200 0
ANMXERREIE Y — =/ T2 1B~ 1200F 200 200 0
ANMXERREIE Y — =/ F126BF~T12108F 200 200 0
ANMXERREIE Y — A= FFRI9BF~ IEF 600 500] A 100
ANMXRREIE Y — RIE= TR~ T1ROHF 600 5001 A 100
ANMXRREIEZ Y — RIE= 1R OBF ~ 12 108F 600 5001 A 100
= HE (24%) Ko (RREE) | P | HER ) EH
E=ExXEEEHT Y — FE— FRI9EF~1IEF 300 2001 A 100
E=ExXEEEHT Y — FE— TR~ T1ROHF 400 3000 A 100
E=ExXEEEHT Y — FE— 1R OBF ~ 12 108F 400 3000 A 100
EEXREHEVY— FEZ FRI9EF~1IEF 1,400 1,100 A 300
E=ExXEEEHT Y — FEZ TR~ T1ROHF 1,900 1,400 A 500
EEXREEHT Y — FEZ 1R 0BF ~ 12 108F 1,900 1,400 A 500
EEXREEHT Y — f=— TR~ 1EF 200 200 0
EEXREEHT Y — f=— TR~ T1R08F 300 2001 A 100
EEXREEHT Y — f=— 1R 0BF ~ 12 108F 300 2001 A 100
E=xXREEE#HTVY— N=E— TR~ 1EF 300 2001 A 100
EEXREEHT Y — M== TR~ T1R08F 400 3000 A 100
EEXREEHT Y — M== 1R 0BF ~ 12 108F 400 3000 A 100
E=xXREEE#HtEYY— IR FRIBF~1EF 400 3000 A 100
E=xXREEE#HTVY— IR TR~ T1R08F 600 5001 A 100
E=xXREEE#HTYY— IR 1R 0BF ~ 12 108F 600 5001 A 100
EEXREEFHEVI—DE|FE— R~ 1EF 400 3000 A 100
EEXREEFHEVI—DE |FE— TR~ T1R08F 600 5001 A 100
EEXREEFHEVI—DE|FE— 1% 0BF ~ 12108 600 5001 A 100
EEXREEFHEVI—DE[FEZ R~ 1EF 400 3000 A 100
EEXRIEFHT VY —DE[FEZ TR~ T1R08F 600 5001 A 100
EEXREEFHEVI—DE|FEZ 1R 0BF ~ 12108 600 5001 A 100
% HE (28%) o (RREE) | S | HER | EH
TEEXEEHTEY— [FEZ R~ 1EF 600 5001 A 100
TEEXRRETE VY — [FEZ TR~ T1R08F 700 5001 A 200
TEEXRRETE VY — [FEZ 1% 0BF ~ 12108 700 5001 A 200
TEEXEEHTEY— [FE= R~ 1EF 400 3001 A 100
TEEXEEHTEY— [FE= TR~ T1R08F 600 5001 A 100
TEEXEEHTEY— [FE= 1% 0BF ~ 12108 600 5001 A 100
TEEXERET VY — [F=EMN R~ 1EF 400 3001 A 100
TEEXERETYY— [F=EMN TR~ T1R08F 600 5001 A 100




tEERREEEItE Y — |[F=EM FEOBF~F12108F 600 5001 A 100
TEEREEZEtT Y — [FER FHIRF~1EF 300 2001 A 100
TEEREEEtT Y — [FER FR1RF~F1E50 400 3000 A 100
TEEREEEtT Y — [FER FEOBF~F12108F 400 3000 A 100
rE=XEEEtT Y — |fIE= FHIRF~1EF 300 2001 A 100
rE=XEEEtT Y — |fIE= FR1RF~ %50 400 3000 A 100
rE=XEEEtT Y — |fIE= FEOBF~F12108F 400 3000 A 100
tEERREEEItE Y — |F1ZEM FaI9EF~1EF 300 2001 A 100
tEERREEEItE Y — |F1ZEM T2 1B ~F 12505 400 3000 A 100
TEERREEEItE Y — |F1ZEM F126BF~F12 1085 400 3000 A 100
TEERREEEt Y — [FAER FaI9EF~1EF 300 2001 A 100
TEERREEEt Y — [FAER F12 1B ~F 12505 400 3000 A 100
TEERREEEt Y — [FAER F126BF~F12108F 400 3000 A 100
TEERREEEt Y — [BER FaI9EF~1EF 300 2001 A 100
TEERREEEt Y — [BE=E F12 1B ~F 12505 400 3000 A 100
TEERREEEt Y — [BE=E F126BF~F12108F 400 3000 A 100
TEEREE#ME VY —DE [ EFE— FaI9EF~1EF 700 5001 A 200
TEEREEHT VY —DE | FE— TR~ 150 900 7001 A 200
TEEREEHE VY —0E [ EFE— F126BF~F12 1085 900 7001 A 200
TEEREEHT VY —DE FEE=A FaI9BF~1EF 300 2001 A 100
TEEREEHST VY —DE FEE=A TR~ 150 300 2001 A 100
TEEREEHE VY —DE JEE=A F1260BF~F12 1085 300 2001 A 100
TEEREEHT VY —0E EFE= FRI9EF~1EF 400 3000 A 100
TEEREEHMT VY —DE EFE= TR~ 150 600 5001 A 100
TEEREEHT VY —0E FE= F1260BF~F 121085 600 5001 A 100
TE=EREESE VY —0=E |FE— FRI9EF~1EF 400 3000 A 100
TE=EREEHE VY —0=E |FE— TR~ 150 600 5001 A 100
TE=EREEHE VY —0=E |FE— F126BF~F121085 600 5001 A 100
TE=EREEST VY —2=E |FHEZ FRI9BF~1EF 300 2001 A 100
TE=EREEHtT VY —2=E |FHEZ TR~ 150 600 5001 A 100
TE=EREEHtT VY —2=E |FHEZ F126BF~F121085F 600 5001 A 100
SHIFESR : PR, 1. %2, BED4RHDESS
= BE (F2%) o (RREE) | S | HER | EH

EMEREEST VY —SENE IBREXEEH T VY —LBENE | TR~ 1EF 1,400 1,100 A 300
EHMEREEST VY —SENE BRXEEHSTE VY —ZBNE | FR I~ F3R48F 1,400 1,100 A 300
EHMEREEST VY —SENE BRXEFHSTE VY —ZBNE | FRIBF~FR T 1,400 1,100 A 300
EHMREEET VY —ZENR REXEEEIT VY —ZSENE | FR TR ~F%108F 1,400 1,100 A 300
MEREESt Y —BE= |MERXREGE T 9 —BEZE |[Fa19RF~1EF 600 5001 A 100
HEXETHC VY —BE= |EXEEE T 9 —BEE |FRIF~F R4 600 5001 A 100
HEXETHt VY B2 |EXEEE T 9 —BEE |FRIBS~FETE 600 5001 A 100
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MEXEEEB T Y —BXE MMEXEFET V¥ —FEE (TR~ FTR108F 600 500] A 100
HEXEESt Y —2ENE EXREET VY —SEN=E | TR~ 1EF 1,500 1,100 A 400
MEXRESt Y —2ENE EXREEIT V9 —SENE | FE 115~ FR45F 1,500 1,100 A 400
MEXRESt Y —2ENE MEXREEIT V9 — S BNE | R4~ FRTE 1,500 1,100 A 400
MEREEESt VY —SENE BEXREE T Y ¥ —2ENE | FR T ~FR108F 1,500 1,100 A 400
IEARREStE VY —SENE | LTEEARRES T Y Y -2 ENE | FRI9RF ~ 1EF 1,500 1,100{ A 400
IERRRESCY Y -SENE | LEARREE T VY —SBNE | TR 1R~ F1R46F 1,500 1,100 A 400
IERRREST Y -SENE | LEHARREE T Y —ZBNE | TR~ FR T 1,500 1,100 A 400
IEEREEST Y -SENE | LEAREEE T Y —SBNE | R TR ~ 18106 1,500 1,100 A 400
FHREEB T VY —BEE FHRXEEEIT D Y —BEE TR~ 1EF 600 5001 A 100
FHREEBT VY —BEE FHREEEIT D Y —BEE | TR~ TRAEF 600 5001 A 100
FHREEBT VY —BEE AR EEEIT D Y —BEE | TR~ TRTE 600 5001 A 100
FHREEBT VY —BEE FHRXEEEIT D Y —BEE | TR~ TR 108 600 5001 A 100
FHERES T VY —SENE FMARXKEE T Y Y —2ENE | FRIIF~ 1EF 2,400 1,800 A 600
FHERES T VY —SENE MIAXKEE T Y ¥ —2ENE | TR 1B~ T1R45E 2,400 1,800 A 600
FHERES T VY —SENE HIAXKEE T Y ¥ -2 EMNE | FR4AF~ TR TR 2,400 1,800 A 600
HHRREET VY —ZENE | HIHFXEEEIT 9 —2ENE | TR TR~ %1065 2,400 1,800 A 600
ITHARREt Y 5 —2A0E [THHARRES 9 —2BM= | Tk~ 1EF 2,700{ 2,100 A 600
IHARREStY 5 —2ANE [THHRRES T 5 —Z B0z | F15% 15~ F1R46F 2,700{ 2,100 A 600
IHARREStE Y 5 —2ANE [THHARRES T 5 —Z B0z | T4~ FRTEF 2,700{ 2,100 A 600
TaARREST Y Y —2BNZE [THARRES T Y —SENE | TR TR ~FR 1085 2,700{ 2,100 A 600
HHXRESC VY —SENE— |BARREE Y Y —SENE— |FRIIFF~1EF 1,500f 1,100{ A 400
HARKEEST Y Y -2 ENE— | BARREET Y 5 —SENE— | FR 1~ F %4 1,500 1,100 A 400
BAXKEES T Y -2 ENE— |FARREET Y ¥ —SENE— | F RIS~ TR TR 1,500 1,100 A 400
HARKEEST Y-S ENE— | FARREE T Y ¥ —SBNE— | FR TR~ F% 1085 1,500 1,100 A 400
AREES VY —FE=E | KIXREEIT D ¥ —BHE=E [T~ 1EF 600 5001 A 100
AREES VY —BEE | ANXRESI T ¥ —BEE | TR~ TR 600 5001 A 100
AREES DY —BEE | ANXRESI T ¥ —BEE | TR~ TR 600 5001 A 100
ANREES VY —BE=E | ANXRESI T ¥ —BE=E | FRTEF~TR108F 600 5001 A 100
AREES T Y —ZENE | ANXEEEIE ¥ — S BENE | FRI9RF~1EF 900 700 A 200
ANRRES TS —SENE | AR EES T V9 —2ENE | TR 1B~ TR4E 900 700 A 200
ANRRES Y —SENE | AR EES T V9 —2ENE | TR~ TR TE 900 700 A 200
AREEES T Y —SENE | AR KESIE V9 —2ENE |[FRTEF~FZ 1085 900 700 A 200
O LEEXREFH TV Y—FTZXO—K
% HE (££2%) X (smE) | ROP | XER EH

TEERRESHtYY—T-20—k | LEEREEHtE Y —T 223 |FFREIEE~FR1108309 200 200 0
EERRESTYY—F 20—k | LEERRESEYY—F 23— |FRT108300 ~EF 200 200 0
REREESTYS—7F-20— b~ | EEERREST VY -T2 20— |IEF~F12 1853045 200 200 0
HERRESHCY -T2k | LEERRESE Y —7 23— |FRIE00 ~F%36F 200 200 0
HERREST Y —F 20— b | LEEREES T Y —F 20—+ |15 30 ~ 12485309 200 200 0
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